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What effect do the transactions below have on the owner’s equity (capital)?

(a) Fran Johnson invested $5,000 in the business.

(b) She bought equipment on account, $2,400.

(c¢) She paid half of the bill owed to the creditor.

(d) She received $2,000 in fees.

(e) She paid salaries for the week, $800.

(f) She withdrew $400 from the business.

(g) She paid rent for the month, $900.

(h) Inventory of supplies decreased $350 during the month.

SOLUTION
(a) increase (¢) no effect (e) decrease (g) decrease
(b) no effect (d) increase (f) decrease (h) decrease
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Compute the amount of the missing element;
Assets Liabilities Owner’s Equity

(@) $24,000 $19,000 ?

() $16,500 ? $12,300

(©) ? $2.700 $14,000

(d) 815,665 $9,406 ?
LUTION

(q) 35000 (324,000 — $19,000)

(h) $4200 (316,500 — $12,300)

(d) $16,700  ($2,700 + $14.000)

(d) $6,259 (815,665 — $9,406)

Transactions completed by J. Epstein, M.D., appear below. Indicate increase (+), decrease (—),
of no change (0) in the accompanying table.

Assets = Liabilities + Owner’s Equity

) Paid rent expense for month

) Paid biweekly salary for lab assistant

} Cash fees collected for the week

) Bought medical equipment, paying cash

) Bought equipment on account

) Paid a creditor (liability) money owed

SOLUTION

(q
{4

{q

(e
(

M

Assets Liabilities + Owner’s Equity

} (reduction of cash and capital)

- 0

) (reduction of cash and capital)

) (increase in cash and capital)

(d) (increase in equipment, reduction in cash)

) (increase in equipment and in accounts payable)

+
+ioc|olo

'} (decrease in cash and in accounts payable)

(=3 =T =]

$ 4,000
12,000
1,000

$17,000 = 0 +

Ir. Allen begins business, investing $4,000 in cash, equipment valued at $12,000, and $1,000
rth of supplies. What is the equity of the irm?

;ELUTION

Assets = Liabilities + Owner’s Equity

$17,000

Mr, Allen’s Owner’s Equity is $17,000, the total of all his assets less his liabilities {0).
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The summary data of the Buntz Taxi Company for May are presented below in equation form.
Dlescribe each of the transactions that occurred during the month.

Assets = Liabilities + Owner’s Equity

Cash + Supplies + Equipment = Accounts Payable +  Capital
(1)  +8%6,600 +$6.,600 Investment
() -3200 +$3,200
3) =500  +$500
(4 +2,000 +$2,000
(5) 42,500 +2.500 Fares Income
(6) —1,100 —1.100 Salaries Expense
(7 -500 =500
(8) ~300 L —300 Drawing

$3,500 + $500 +  $5,200 $1,500 +  $7.700
SOLUTION

(1) An investment was made by the owner.

(2) Equipment was bought and paid for.

(3) Supplies were bought and paid for.

(4) Additional equipment was bought on account, thus creating the liability.
(5) Income from taxi fares was recorded.

(6) Salaries were paid to the company's drivers.

(7) Cash was paid to reduce the amount owed.

(8) Owner withdrew funds for his personal use.

[Determine what accounts are affected, by how much, and if it is an increase (+), decrease (—),
gr there is no effect (0).

Nov. 5 Invested 37,000 cash and $400 of supplies into the business
7 Received $4,200 for services rendered
9 Purchased equipment on account, $3,700

11 Paid $750 for supplies

14 Paid salaries, $2,100

16 Paid $3,500 for land

17 Paid $2,000 on account from Nov. 9 transaction

19 Paid utilities, $200

20 Paid $300 for supplies and $700 for equipment




21

30

Received $4.700 for services rendered

25 Withdrew $2,000 cash for personal use
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Inventory of supplies showed $600 of supplies on hand

Reecord the efiect of each transaction in the following table:

Accounts

Cash Supplies Equipment Land Payablc Capital
Nov. 5
7
9
11
14
16
17
19
20
21
25
30
SOLUTION
Accounts
Cash Supplies Equipment Land Payable Capital
Nov. 5 +$7,000 +$400 0 0 0 +$7,400
7 + 4,200 0 0 0 0 + 4,200
9 0 0 +53,700 0 +8$3.700 0
1 - 750 + 750 0 0 0 0
14 - 2,100 0 0 0 0 - 2,100
16 - 3,500 0 0 +3$3.500 0 0
17 - 2,000 0 0 0 - 2000 0
19 - 200 0 0 0 0 - 200
2) - 1,000 + 300 + 70 0 0 0
21 + 4,700 0 0 0 0 + 4,700
25 ~ 2,000 0 0 0 0 - 2,000
30 0 -~ 850 0 0 0 - 850




